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1. The xan3 says that a *75 which holds the contents “inside” combines its contents and makes them as one.
5”1 added a *3 even if if doesn’t hold the contents. Why would they add this i77n?  The other mipn were
guided by a specific xa1, like 7¥*x17, but here there is no obvious reason.

2. Since the source for this 17 is from nwp nx% iRk 73, why would we assume that this needs a naw >53?
The 73 may have been donated but it was never a nw *55?

3. RPMRT 777 '0n asks why the xana didn’t suggest a 9117 °22 which holds the contents inside of it, but is
different than the 72 which was a n2w *%3. When did the 75 become a naw *%35? The 109 only describes how
the nmwp was brought in a 75?

4. n1xn °951 something which is wmp, in a naw 92, The mwn lists this property as one where w1 is on a
higher level than 7m17n. Since even in wp the only time it works is when it’s in a n7w 23, how is this
considered a higher level? mmn doesn’t have a nw *%3 which is why it can never be in a similar situation?

5. When discussing the difference between 1m0 and w7 concerning one hand being xnv the mawn says
that both hands need n%°av for wmp. Why didn’t the mawn stick to the effect on the wp itself, namely if he
touched w7p with the hand that’s v it’s 9109, but if he touched 7170 it’s not effected?

6. 27y The Gemara explains that an 123% 0°7195 [0 require 7%°2v for wp and not for ma17n, because they
were able to eat =110 while being an 1% or 07195 "01n, but not wmp. Why is this a 7%yn in the gwTp of
one over the other? If iman was mox for an 111% he would also require 71%°2v? And if the 7%vn is the fact that
they can’t eat w1, why did the 73w mention the 7%°2v and not the 77°5% M1o°R?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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